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The following general guidelines for answering the assignment do not constitute a model answer, but are rather an indication of the approach students could have followed in answering the question.

	
FEEDBACK ON ASSIGNMENT 01



INTRODUCTION

Students were asked to identify whether there are grounds on which XYZ can institute an action under the private law of competition against John. 

The words in bold make it clear that the law of trademarks is not applicable to this question. No marks were awarded for any discussion of the relief which might be available under the law of trademarks. 

DISCUSSION

Under the common law, XYZ may institute an action based on unlawful competition. The facts point to a misappropriation of confidential trade information or trade secrets.  John is interfering directly with XYZ's goodwill, and in view of the competition principle, John's conduct is wrongful. See, for example, Dun and Bradstreet (Pty) Ltd v SA Merchants Combined Credit Bureau (Cape) Pty Ltd and Stellenbosch Wine Trust Ltd v Oude Meester Group Ltd.  The possibility of an implied term in John's contract of service may also be considered (see Coolair Ventilator Co (SA) (Pty) Ltd v Liebenberg).  Although as a former employee, John may use his own skill and experience to develop his product, he may not do so in a manner which disregards the trade secret rights to which his former employer XYZ is entitled in respect of the same information (Northern Office Micro Computers v Rosenstein).  XYZ may apply for an interdict whether the infringement is actual or only threatening.  To claim damages, XYZ will have to prove his damages as well as intent or negligence on the part of John.

XYZ can also institute an action against John on the basis of passing off. Passing off means imitating a rival's distinctive marks, and in this case may relate to the name and or packaging ("get-up"). Passing off is also a form of deception regarding one’s own product or performance, but includes the further infringement of the accessory right to a distinctive mark. Define the term “passing off”. Refer to Capital Estate and General Agencies v Holiday Inns. Also discuss briefly the requirements for a successful passing off action, namely reputation and deception.

Since XYZ’s products are marketed in South Africa under the COLORCLEAN trade mark, he should be able to establish the required reputation. The two marks COLORCLEAN and CLEANZCOLOR are confusingly similar and the use by John of the mark CLEANZCOLOR and a similar packaging for his soap powders is likely to deceive or confuse the public. Accordingly, XYZ should succeed with an action for passing off against John. XYZ can approach the court for an interdict by merely showing that there is a clear probability that deception or confusion in respect of the product names and packaging may arise.  Damages may be claimed if there is proof thereof, together with the presence of intent or negligence. Include relevant case law in your answer. 	

